
PHYSICS 11 

Math Review 
Lesson 1 – Introductory Unit 
 

Part One: Solve for the unknown variable.  
 
1) 3𝑥 + 2 = 14 
 
 

2)  4𝑥 + 3𝑥 + 7 = 21 
 

3) 4 + 3𝑡 = −6 − 2𝑡 
 

4) 2(𝑥 + 1) = 4 

5) 
𝑎

3
+ 4 = 27 6) 10 + 4𝑔 − 𝑔 = 37 

7) 2(3𝑓 + 4) = 26 8) 3(ℎ − 4) = 2(ℎ + 6) 

9) 13 + 8 = 21 − 2 + 4𝑥  10) 3(3𝑚 + 1) = 3𝑚 + 1 − 4(𝑚 + 2) 

 

Part Two: Isolate the specified variable in each equation: 
11) Solve for b: 

𝑃 = 𝑎 + 2𝑏 + 3𝑐 
 

12) Solve for y: 
𝐴𝑥 + 𝐵𝑦 = 𝐶 

13) Solve for p: 
𝐼 = 𝑝𝑟𝑡 

 

14) Solve for l: 
2𝑙 + 2𝑤 = 60 

15) Solve for r: 
𝐴 = 𝑝 + 𝑝𝑟𝑡 

 

  

Part Three: Complete the following table: 

 
General equation 

Slope-Intercept 
Form 

Slope y-intercept x-intercept 

16)    7 −3  

17)    − 2
3⁄  8  

18)  3𝑥 + 4𝑦 = 12     

19)  2(3𝑥 + 4) + 3(2𝑦 − 3) = 5     

 
 
 



Answers: 

1) x = 4 

2) x = 2 

3) t = -2 

4) x = 1 

5) a = 69 

6) g = 9 

7) f = 3 

8) h = 24 

9) x = ½ 

10) m = -1 

11) 𝑏 =
𝑃−𝑎−3𝑐

2
 

12) 𝑦 =
𝑐−𝐴𝑥

𝐵
 

13) 𝑝 =
1

𝑟𝑡
 

14) 𝑙 = 30 = 𝑤 

15) 𝑟 =
𝐴−𝑝

𝑝𝑡
 

16) 𝒔𝒍𝒐𝒑𝒆 − 𝒊𝒏𝒕. : 𝑦 = 7𝑥 − 3;  𝒙 − 𝒊𝒏𝒕: 3
7⁄   

17) 𝒔𝒍𝒐𝒑𝒆 − 𝒊𝒏𝒕. : 𝑦 = − 2
3⁄ 𝑥 + 8;  𝒙 − 𝒊𝒏𝒕: 12  

18) 𝒔𝒍𝒐𝒑𝒆 − 𝒊𝒏𝒕. : 𝑦 = − 3
4⁄ 𝑥 + 3;  𝑠𝑙𝑜𝑝𝑒: − 3

4⁄ ; 𝒚 − 𝒊𝒏𝒕: + 3;  𝒙 − 𝒊𝒏𝒕: 4  

19) 𝒔𝒍𝒐𝒑𝒆 − 𝒊𝒏𝒕. : 𝑦 = −𝑥 + 1;  𝑠𝑙𝑜𝑝𝑒: − 1; 𝒚 − 𝒊𝒏𝒕: + 1;  𝒙 − 𝒊𝒏𝒕: 1  

 


